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Solution to Problem 250E

The Karman Momentum Integral Equation is :
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where «, 3 and v are the usual profile parameters, 7,, is the wall shear stress, U is the velocity exterior to the boundary
layer, ¢ is the boundary layer thickness, v and p are the kinematic viscosity and density of the fluid and z is the streamwise
distance along the wall surface.

It follows that if U = Ax the boundary layer thickness, ¢, will be given by
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for which the only reasonable solution is )
0 = constant = [1/76] ’
AQ2a + )



